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1) TRADE THEORY
Question No. 1/ Question ID 355 Marks: 2.00
What is the name of meter as shown in the figure?
ferr 7 faRaTy 7T Hiex &1 919 1 57 @)
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(A) O AC and DC multirange voltmeter (Correct Alternative)
AC 3R DC Ao dleeHier (Correct Alternative)

(B) ©O DC multirange voltmeter (Chosen Option)
DC Hee Rl dlecHIe} (Chosen Option)

(C) O AC and DC multirange ammeter
AC 3R DC Aeeiel THieR

(D) O AC multirange ammeter

AC ARINS THIER




Question No. 2 / Question ID 422 Marks: 2.00
What is the purpose of tap changer in the power transformers?
faggd TBRR # ¢U uRad® &1 3= &1 g2
(A) O Maintain the secondary voltage constant (Correct Alternative)
fgdia® aiedst fRR §9TT TG (Correct Alternative)
(B) O Maintain the primary voltage constant
WA decs FRR ST
(C) O Load the transformer for maximum efficiency
TAHAH &l o fOIE SRIHTER ds B
(D) O Maintain the voltage ratio constant (Chosen Option)
Jlees S{JUId fRR g8 3 (Chosen Option)

S
Question No. 3 / Question ID 96 O
Which is an application of series circuit?

RIS Ffdhe BT SN S AT 82 =
(A) O Fuse in circuit (Correct Alternative) (Chosen O
gfbe o ol (Correct Alternative) (Chosen Optio

Marks: 2.00

(B) O Electrical lamp in homes
wRI H faiclt &1 ou

(C) O Shunt resistor in ammeter
3fHieR # xic ieRIy®

(D) O Voltmeter connection

Question No. 4 / Question ID 127
Which factor is determining the value of capacitance in capacitor?
G T TRl &1 1 D9 1 HRe HuffiRd FHrar g2
(A) O Thickness of the plates (Chosen Option)
[ B HieTs (Chosen Option)
(B) O Weight of the plates
ISEEIRIN
(C) O Area of the plates (Correct Alternative)
wWel &7 &A% (Correct Alternative)
(D) O Volume of the plates
ISEKCRCIBRE]

Marks: 2.00

dlecHIe HaRM ;

Question No. 5/ Question ID 303 Marks: 2.00
Which instrument is used to test the insulation of new domestic wiring installation?
T TR TR S TARM & ST BT TG0 B & foIE oy SUHRUT BT ITANT foham STt 82
(A) O Multimeter
HedHICR
(B) O Shunt type ohmmeter
T YR 3igl Hicr
(C) O Series type ohmmeter (Chosen Option)
Il UHR 31| Hex (Chosen Option)
(D) O Megger (Correct Alternative)
R (Correct Alternative)

Question No. 6 / Question ID 79 Marks: 2.00




Which material is having the negative temperature co-efficient property?
fohg Teref & BT JTUH Ul 07§l 87
(A) O Eureka

(B) O Mica (Correct Alternative) (Chosen Option)
YD (Correct Alternative) (Chosen Option)
(C) O Manganin
A=A

(D) O Copper
GIE

What is the name of the light as shown in the figure?

Question No. 7 / Question ID 326 E’
3 & faTU U UhT=y &7 911 1 82 °)

v
0

(A) O Spvot light (Correct Alternative) (Chosen Option) ;
HIC dIgC (Correct Alternative) (Chosen Option) ;
(B) O Flash light
ERRIGIE S
(C) O Flood light
ENCINIE
(D) O Bulk light

faeqa A=

Marks: 2.00

Question No. 8 / Question ID 420

Why the ferrite core is used in radio receivers?

S Refta™] & 1 HR BT ITANT i b1 Sl 872

(A) O To decrease the efficiency of receivers (Chosen Option)
ReftaR @1 G&ral &I HH HRA & [T (Chosen Option)

(B) O To reduce the constant losses (Correct Alternative)
fraa 8111 &1 &7 HH & AT (Correct Alternative)

(C) O To increase the quality of sound

D1 U dgH & g
(D) O To reduce the electric interference

fIegd 5XI8Y & HH P B oy

Marks: 2.00

Question No. 9 / Question ID 401
What is the temperature range, maintained by thermostat in geyser?

ThoR & YARee gRT ST Wt S arell dTgH Har =1 82
(A) O 0° C to 130° C (Chosen Option)
0° C to 130° C (Chosen Option)

Marks: 2.00




(B)O 0°Cto50°C
0° Cto 50° C

(C) O 10°Cto150°C
10° C to 150° C

(D) O 60° C to 65° C (Correct Alternative)
60° C to 65° C (Correct Alternative)

Question No. 10 / Question ID 160 Marks: 2.00
What is the line voltage in 3 phase system if the phase voltage is 240V?
3 Ut Riey & af e dieesl 240V B, Al A8 dlecs 1 BII2
(A) O 440 Volt
440 Volt

-
(B) O 415 Volt (Correct Alternative) (Chosen Option) o_
415 Volt (Correct Alternative) (Chosen Option) ummm

(C) O 380 Volt
380 Volt

(D) O 400 Volt
400 Volt

lobalit

Question No. 11 / Question ID 59 Marks: 2.00
Which type of joint is used for extending the length of cond in over head lines?

3R BS A1ZT A HSack P ddls deM & fo7E fhy TSR & 3w BT SN far S 372
(A) O Western Union joint (Correct Alternative) ;

GIIgC (Correct Alternative)

(B) O Aerial tap joint
ISIE

(C) O Britannia “T” loint (Chosen Option)

'T' Slgc (Chosen Option)
(D) O Scarfed joint

SIEH

Question No. 12 / Question ID 76 Marks: 2.00
What is the formula for the equivalent resistance (Ry) of the three resistors R4, Ry & R are connected in
parallel?

TR H s I UfRIU®! Ry, R, 3R Ry & JATe™ UfoRIY (Ry) T G T 82
AO o 1
THE
Ri=Ro Ry

B)O & -

—_——t—

—_——t—

) O i . 4 1

Ry =——+——+—|(Correct Alternative)

Rt =——+——*—/[(Correct Alternative)




(D) O RT = R1 + R2 + R3 (Chosen Optlon)
Rt = R4 + Ry + R3 (Chosen Option)

Question No. 13 / Question ID 271 Marks: 2.00
Which electrical equipment can be connected with ‘L’ series MCB?

DI I faggd USRI oI 'L RIS MCB ¥ SIST ST Tehell 872
(A) O Motors

(B) O Halogen lamp (Chosen Option)
(Chosen Option)

(C) O General lighting (Correct Alternative) m
o[ ?I'I'éﬁ"T (Correct Alternative) [l

(D) O Air conditioner (@]
ardrgRe - —

Question No. 14 / Question ID 174 Marks: 2.00
What is the condition for resonance in RLC series circuit? (muctive reactance = ‘X, Capacitive
reactance = ‘X¢')

RLC &g uRuy & Sf1S o1 R o1 22 (ORoneres wfaerdd X, Safifed ufdemd = 'xo)
(A) O X = Xc (Correct Alternative) (Chosen Option)
XL = Xc (Correct Alternative) (Chosen Option)
(B) O XL>V2Xc
X, > 2 X¢
(C)O XL <Xc
XL < XC
(D) O XL>Xc
XL > XC

WWW.g

Question No. 15/ Question ID 159 Marks: 2.00
What is the reciprocal of reactance in an AC parallal circuit?
AC TJHFIR aRkay & ufaferar &1 gerd 31 87
(A) O Conductance (Chosen Option)
dlddh dl (Chosen Option)
(B) O Impedance

(C) O Susceptance (Correct Alternative)
(Correct Alternative)
(D) O Admittance

Question No. 16 / Question ID 413 Marks: 2.00
Which cooling method is used in the pole mounting distribution transformer?
O A3 faarur graweR § &1 3t 2haas fafy &1 I faar Srar g2
(A) O Oil natural air natural (Correct Alternative) (Chosen Option)
'dl L'I'Iq?ﬁlﬂ? (Correct Alternative) (Chosen Option)

(B) O OQil forced water forced
de Sferd ST dferd




(C) O Qil natural air blast

dd U fdd arg faemie
(D) O OQil forced air forced

dq §ferd gar afad

Question No. 17 / Question ID 29
What is the name of the wire joint as shown in the figure?

ﬁaﬁﬁamwaw%rxh-swwqm%?

(A) O Duplex cross tapjomt
SWd P <Y Hge —
(B) O Knotted tap jomt (Correct Alternative) (Chosen gon)

T EI'IBE’ (Correct Alternative) (Chosen Op
(C) O Aerial tap joint

ASIES
(D) O Double cross tap joint

Marks: 2.00

o
S9d 1Y <Y Hise ;
S

Question No. 18 / Question ID 332
What is the purpose of ignitor in high pressure sodium vap lamp circuit?
3= g9 ST Iy &Y Ifche H AR &9 a1 &1 I
(A) O Decreases the starting current (Chosen Option)
3R YRT B! geTdl g (Chosen Option)
(B) O Generates high voltage pulse at starting (Correct Alternative)
A= P R I dieeol UeH ST Hdl % (Correct Alternative)
(C) O Increases the running current
(D) O Increases the running voltage
I g dleesl Bl SIdT &

Marks: 2.00

Question No. 19 / Question ID 6
What is the back ground colour of the warning signs in the safety sign category?
&M Tohd Joft & e Fohd! BT B3-S HeR T 872
(A) O Blue

(B) O Yellow (Correct Alternative) (Chosen Option)
e (Correct Alternative) (Chosen Option)
(C) O Green

exl
(D) O White

Marks: 2.00

Question No. 20 / Question ID 380

Marks: 2.00




Why the damping force is required in a moving coil instrument?
TR Hed IUHRU H SaHed 9d Bt HTaDHdl HI gial 57
(A) O Bring the needle to rest at final value (Correct Alternative)
P 3ifaw °F W fRR B¢ (Correct Alternative)
(B) O Makes the needle movement faster
& &1 T BT dol HRT &
(C) O Helps the deflecting force to act fast (Chosen Option)
faere 9d &Y dolt 9 BRI B H Heg Bl %’ (Chosen Option)

(D) O Brings the needle to its zero position

! 3T T R A a8

Question No. 21 / Question ID 131 m Marks: 2.00
What is the effect of the paraIIeI CII’CUIt with one branch is owed’?
TS IRAT & 1Y FHHIR Fidhe Jia ERERITE[‘J-I'IHEIEHT%'?

(A) O Whole circuit will not function (Chosen Option) "I_,
R Fidhe BTH g1 BT (Chosen Option) —
(B) O Voltage drop increase in the opened branch m
gl TRaT H diecsl $19 ¢ SIe 0
(C) O Current will remain same o
ERGEERG) —

(D) O No current will flow in that branch (Correct Alte@ve)

39 XM # $Ig B YdIfed 8l B (Correct Algnative)

Question No. 22 / Question ID 13 ; Marks: 2.00
What is the name of the part marked ‘X’ as shown in the fig

o A femme u x faf|d W &1 719 = 87

=g

=g

(A) O Point

(B) O Edge
']

(C) O Heel (Correct Alternative) (Chosen Option)
G (Correct Alternative) (Chosen Option)

(D) O Tang
&

Question No. 23 / Question ID 297 Marks: 2.00
Which is employed in circuit breaker for the thermal over load protection?
I SR IS YRET & oY Fidhe s | faan! I9anT foam Srdm g7
(A) O No voIt coil
aIee $S el
(B) O Mechanical vibration

gifAdh U
(C) O Magnetic repulsion
‘ PIRERL




(D) O Bimetallic strip (Correct Alternative) (Chosen Option)
J%“‘J’I—g’ t@’f (Correct Alternative) (Chosen Option)

Question No. 24 / Question ID 237
What is the full form of BIS?
BIS T JUf U F1 §
(A) O Bureau of Indian Standards (Correct Alternative)
Bureau of Indian Standards (Correct Alternative)
(B) O Bureau of International Standards (Chosen Option)
Bureau of International Standards (Chosen Option)
(C) O Board of Indian Standards
Board of Indian Standards

(D) O Board of International Standards
Board of International Standards

Marks: 2.00

ti.org

Question No. 25 / Question ID 170  —

Calculate the electrical energy in unit consumed by 500W for 5 hours.

500W T GRT 5 ©¢ ddh WUd &1 15 fdedd SHoll di gabls d B
(A) O 0.5 unit
0.5 unit

(B) O 1.0 unit
1.0 unit
(C) O 2.5 unit (Correct Alternative) (Chosen Option)
2.5 unit (Correct Alternative) (Chosen Option)
(D) O 1.5 unit
1.5 unit

www.glo

Marks: 2.00

Question No. 26 / Question ID 80

What electrical quantities are related with the Ohm’s law?

3 & | @ o1 It faega TRml gt g2

(A) O Voltage, resistance and current density (Chosen Option)
Jieed, TfeRIY 3R YRT ¥ (Chosen Option)

(B) O Current, voltage and resistivity
YR, A IR Uil

(C) O Current, resistance and power
YRT, UioR1Y Td ferdt

(D) O Current, voltage and resistance (Correct Alternative)
YRT, diees 3R ufaRiY (Correct Alternative)

Marks: 2.00

Question No. 27 / Question ID 209

What is the Electro Chemical Equivalent (ECE) of copper?

e &1 fagga Imae Jedid o g7

(A) O 1.1182 g/coulomb
1.1182 g/coulomb

(B) O 0.329 mg/coulomb (Correct Alternative) (Chosen Option)
0.329 mg/coulomb (Correct Alternative) (Chosen Option)

(C) O 0.329 g/coulomb
0.329 g/coulomb

(D) O 1.1182 mg/coulomb
1.1182 mg/coulomb

Marks: 2.00




Question No. 28 / Question ID 293 Marks: 2.00

What protection offered by residual current circuit breaker?
TP YR Wfehe s GRT T YR&T USH BI STt 872
(A) O Protection from the short circuit

I1¢ Hfdhe d TR
(B) O Protection from the over voltage

3fIaR dlecel F GRE&T
(C) O Protection from the over load

oS o TR

(D) O Protection from the electric shock (Correct Alternative) (Chosen Option)

foorcht & m 3 {R&T (Correct Alternative) (Ch@ Option)
S

Question No. 29 / Question ID 352 O Marks: 2.00
What is the name of the shunt resistance material as showyil the figure?

fort & feRaTe SR e uforiy Irht &1 A o1 82 hd

(A) O Manganin (Correct Alternative) ;
(Correct Alternative) ;
(B) O Copper ;
GIEI
(C) O Nichrome (Chosen Option)
(Chosen Option)
(D) O Eureka

Question No. 30 / Question ID 343 Marks: 2.00
What is the reason for supplying AC to the electrodes for measuring earth resistance?
gt UfcR1Y &1 AU & T Sciagis &l Tl &t MTYfd B3 BT T HRUT 7
(A) O Avoid the effect of electrolytic emf interference (Correct Alternative)

fagga sruued faar 9@ &1 g (Correct Alternative)
(B) O Reduce the value of current in the meter

HicX H YRT BT HM gH
(C) O Provide electrostatic shield

R fagygd e uaH &
(D) O Protect the coils in the meter (Chosen Option)

HicX H el Bl GR&d @ (Chosen Option)

Question No. 31 / Question ID 107 Marks: 2.00
Calculate the resistance value of the resistor by colour coding method.

T IS A gRT UfcRiere & UfoRIY AT 1 0T 6 |




(A) O 37x10*Q +5% .
37 x10*Q + 5% =
(B) O 23x10%Q +5%
23 x10%Q + 5% 0
(C)O 32x104Q+10%
32x10%Q + 10% —

©
O

(D) O 26x10° Q +10% (Correct Alternative) (Chosen Cﬁ%n
26 x 103 Q % 10% (Correct Alternative) (Chosen ion)

Question No. 32 / Question ID 73 ?
WhICh layer is prowded above the metalllc sheath in UG ca?
UG $ad ¥ UTfcde 3MMaRUI & HWR DI I URd UG 1 Siel
(A) O Armouring

ST

(B) O Paper insulation (Chosen Option)
: (Chosen Option)
(C) O Serving
gfd

(D) O Bedding (Correct Alternative)
(Correct Alternative)

Marks: 2.00

Question No. 33 / Question ID 397

What is the function of magnetron tube in a microwave oven?

AIEHIad 3fiad & DU IE BT T B g7

(A) O Changes the polarity every half cycle
&% 3N Tep  yadl daadl

(B) O Amplifies the microwave signal
HTShIad RIud &) 911 8

(C) O Converts the microwave energy to electrical energy (Chosen Option)
HTEehIad SHoll I f[aggd Soll | uikafdd &dl g (Chosen Option)

(D) O Oscillate and produce the cooking frequency (Correct Alternative)

e 3R @I IS Bt GITQﬁT IAT P (Correct Alternative)

Marks: 2.00

Question No. 34 / Question ID 162

Marks: 2.00




Which formula is used to calculate the impedance (z) of a RLC series circuit?

RLC 207t ulRuy &t Ufaae (z) &t T0HT - & e {5 1 &1 Iuai fan s g2
RO 7o R ~ix. —x.)
B O Z=V{R2+[KL‘-XD}I

Z:JR"-H[KL ~%X.)

©0 Z= JRE +x, ~x.J? |(Correct Alternative)

i JRE +(x_ ~x ? |(CorrectAlternative)

(D) O Z:RE +{X[_ ~ X }2 (Chosen Option)

7-R?2 +{;.(L o M }2 (Chosen Option)

iti.org

Question No. 35/ Question ID 225
What is the effect of buckling defect in a lead acid battery?
T 37T ol W IBfelT QY BT T THIT TSl 67
(A) O Increasing the internal resistance (Chosen Option)

3T Ry | q@ (Chosen Option)
(B) O Increasing the density of electrolyte
ENEE NSRRGSR
(C) O Bending of the electrodes (Correct Alternative)
'&"éﬂ@?ﬁf T Y ST (Correct Alternative)
(D) O Reducing the density of electrolyte
godeIage 1 U HH BRI

Marks: 2.00

obal
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Question No. 36 / Question ID 60 Marks: 2.00

What is the effect on molten solder due to repeated melting?
e g ek ) IR-IR gam I 39 W 1 UHE TSdT 872
(A) O Tin content reduced (Correct Alternative) (Chosen Option)

fea st & Eﬁ STt % (Correct Alternative) (Chosen Option)
(B) O Lead content reduced

TS B! T HH 51 o1l ©
(C) O Even solder flowing in joints

K &1 A Yd1g

(D) O Prevent slug formation

T &4 F Apdl §

Question No. 37 / Question ID 208 Marks: 2.00
What does the letter 'Z’ indicate in the formula M=Z | t?
T M=Z | t ¥ 3[&R 7' 1 I 872
(A) O Amount of current in Amp
R g
(B) O Time in seconds
I, Yave §
(C) O E.C.E of electrolyte (Correct Alternative)
faega srq"ged &1 ECE (Correct Alternative)




(D) O Mass deposited in grams (Chosen Option)
S, AH | (Chosen Option)

Question No. 38 / Question ID 273

What is the function of bimetallic strip in the MCB ?

MCB ¥ arsacfs ey &1 31 &1 82

(A) O Short circuit protection
T YREM

(B) O Over voltage protection (Chosen Option)
3{fe dteedl ¥ YR&M (Chosen Option)

(C) O Over load protection (Correct Alternative)
SfAUR I 9T (Correct Alternative)

(D) O Earth leakage protection
31 e Rem

Marks: 2.00

2) WORKSHOP CALCULATION SCIENCE

Question No. 1/ Question ID 447

What is the square root of 5297

529 BT TS FT 52

(A) O 43
43

(B)O 13
13

(C) O 23 (Correct Alternative) (Chosen Option)
23 (Correct Alternative) (Chosen Option)

(D) O 33
33

Marks: 2.00

www.globaliti.org

Question No. 2 / Question ID 448
Convert 0.456 decimal fraction into percentage?

0.456 GRHAG fNF & Ufdrd H 9aferd?
(A) O 45.6% (Correct Alternative)
45.6% (Correct Alternative)
(B) O 0.456%
0.456%
(C) O 0.0456% (Chosen Option)
0.0456% (Chosen Option)
(D) O 4.56%
4.56%

Marks: 2.00

Question No. 3 / Question ID 444
What denotes letter 'M' in MKS system?
MKS ToTTelt & 'M' 31&R T GRITdT 87
(A) O Mile

Mile
(B) O Millimeter
Millimeter
(C) O Micron
Micron

(D) O Meter (Correct Alternative) (Chosen Option)
Meter (Correct Alternative) (Chosen Option)

Marks: 2.00




Question No. 4 / Question ID 458
Which is example for first order lever?

T HTSX TR P Y DHIH-TT I&TeR0T 82
(A) O Lime squeezer
Y TR
(B) ©O Awheel barrow (Chosen Option)
TP BId GRl| (Chosen Option)
(C) O A pair of scissors (Correct Alternative)
Irord &1 U TR (Correct Alternative)
(D) O Fire tongs
BRR <Y

Marks: 2.00

Question No. 5/ Question ID 454
What is the value for specific heat of water?

U ot fAfRrse ™A1 1 719 1 82

(A) O 1 (Correct Alternative)
1 (Correct Alternative)

(B) O 2 (Chosen Option)
2 (Chosen Option)

(€) O

3
3
D)o 4
4

Marks: 2.00

Question No. 6 / Question ID 457

What is the perimeter of a rectangle whose length and bre

ww.globaliti.org

aﬁ Marks: 2.00
are 20 cm and 18 cm?

T 3MTId T URHATYT o1 g1, ForRyep! valls Ud =ieTs 20 A 9 18 T4 g2

(A) O 76 cm (Correct Alternative) (Chosen Option)
76 cm (Correct Alternative) (Chosen Option)

(B) O 56cm
56 cm
(C)O 86cm
86 cm
(D) O 66 .cm
66 cm

3) ENGINEERING DRAWING

Question No. 1/ Question ID 482
Identify the name of the triangle?

RAYS &1 =g fafau?

Marks: 2.00




(A) O Right angle triangle (Correct Alternative) (Chosen Option)
ﬁ‘{-[ﬁ (Correct Alternative) (Chosen Option)
(B) O Scalene triangle

(C) O Eaquilateral triangle
YS! AP

(D) O Isosceles triangle

Question No. 2 / Question ID 463
Identify the conventional symbol of material?

o | fezare U 9l & URURS Udie &1 Udl Tme?

Marks: 2.00




A) O Lead |

(A)
- =
(B) O Glass

CIE]
(C) O Paper

DTl
(D) O Wood (Correct Alternative) (Chosen Option)

51 (Correct Alternative) (Chosen Option)

Question No. 3 / Question ID 483
Which arrow head is correct as per standard?

AP & 3TIR B9 91 dR < gl 872

(A) O
(Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
: -

Marks: 2.00




Question No. 4 / Question ID 471 Marks: 2.00
What is the trimmed size of A4 sheet?
A4 fte &1 foH forar g3 STeR 1 82
(A) O 841x1189
841 x 1189
(B) O 148 x210
148 x 210
(C) O 210 x 297 (Correct Alternative) (Chosen Option)
210 x 297 (Correct Alternative) (Chosen Option)

(D) O 594 x 841
594 x 841

www.globaliti.org

Question No. 5/ Question ID 485 Marks: 2.00

Identify the correct aligned system dimension?
g1 TR ReH S &t ugdH 62
(A) O

(Chosen Option)

(Chosen Option)




iti.org

al

(Correct Al Dative)

ww.glo

(Correct AIt?ative)

Question No. 6 / Question ID 465 Marks: 2.00
Identify the name of set square?
e TWHRR BT 19 TGoi?




(A) O 45° set square (Correct Alternative) (Chosen Opgw)
45° ¥T TR (Correct Alternative) (Chosen Optig)
(B) O 30° set square
30° YT WHRR ;
(C) O 15° set square
15° I W]
(D) O 60° set square
60° YT TR

4) EMPLOYABILITY SKILLS

Question No. 1 / Question ID 492 Marks: 2.00
is a brief statement about purpose and principles of the Constitution.
..... e & Iexd R Risidl & IR & Ifad fdavor g
(A) O The Preamble (Correct Alternative) (Chosen Option)
YXATdAT (Correct Alternative) (Chosen Option)
(B) O Module
AT
(C) O Syllabus
UrédshH
(D) O Unit

Question No. 2 / Question ID 512 Marks: 2.00
Fill in the blank with present progressive tense of the verb. “The train through the tunnel”

foha1 & A IR ®1d & A1 Rad ®IF W1 “The train through the tunnel”

(A) O is passing (Correct Alternative) (Chosen Option)
is passing (Correct Alternative) (Chosen Option)




(B) O had passed
had passed

(C) O passed
passed

(D) O was passing
was passing

Question No. 3/ Question ID 523 Marks: 2.00
Rise and fall of pitch of voice is called

3MTaTST B g &1 I51 3R AR FearT Y
(A) O vowel (Chosen Option)

Question No. 4 / Question ID 563
Which of these statements is true?
T8 I DI 91 HYH I 82
(A) O Salary in metro cities is always higher than small tow@is

TS TRl | I §HRN BIC WER DI g H 31 SR
(B) O Some cities have more opportunities than othengor certain job roles. (Correct
Alternative)

PO eI 8 $O NIl & e gaxl &1 ga-n | AR BId 81 (Correct Alternative)
(C) O Only a few cities have job opportunities.
FD Bl eI H AR & SaW g |

(D) O All jobs are available in all cities. (Chosen Option)
gyt el g1 et # I €1 (Chosen Option)

Marks: 2.00

¥dX (Chosen Option) m
(B) O intonation (Correct Alternative) e
SISl & 3dIR-deld (Correct Alternative) O_
©) O gg\_r;{onant :‘E'
(D) O pronunciation c_u
SR Pe!
@)

(@)

Question No. 5/ Question ID 526 Marks: 2.00
Which is a silent Iettgr in the word “ANSWER”?
“ANSWER” /e H ®H I J& 31&R §7?
(M) O E
E
(B) O W (Correct Alternative)
W (Correct Alternative)

€O S
S

(D) O R (Chosen Option)
R (Chosen Option)

Question No. 6 / Question ID 533 Marks: 2.00
Which one is NOT a conjunction?
DI T TH GGIoH T8l 872
(A) O Or (Chosen Option)
Or (Chosen Option)

(B) O But
But




(©) O And
And

(D) O On (Correct Alternative)
On (Correct Alternative)

Question No. 7 / Question ID 487 Marks: 2.00
The ability to do is
...... IR DI GHEAT S|
(A) O Skill
DA
(B) O Experience
3{JHd
(C) O Knowledge
sﬂ:{

(D) O Job (Correct Alternative) (Chosen Option)
PIH (Correct Alternative) (Chosen Option)

www.globaliti.org

Question No. 8 / Question ID 619 Marks: 2.00
An illegal activity committed on the internet is called
T W PI 715 TH My A BT ............ HEI € |
(A) O social networking
BINGERLE|
(B) O virus
SIS
(C) O search engine
L]
(D) O cyber crime (Correct Alternative) (Chosen Option)
IgdaX pIgH (SURTE) (Correct Alternative) (Chosen Option)
Question No. 9 / Question ID 700 Marks: 2.00
Information like date of birth, permanent address form a part of one’s in the resume.
o+ fafd, Wil gar SiRft SHeRt Regd  fedt & o1 o= gt g
(A) O Qualifications
Il
(B) O Career objectives
PR & ‘
(C) O Personal details (Correct Alternative) (Chosen Option)
faazor (Correct Alternative) (Chosen Option)
(D) O Achievements
REKIEp|
Question No. 10 / Question ID 612 Marks: 2.00
PIN is
PING ....|

(A) O Professional Income Number
Professional Income Number

(B) O Professional Identification Number
Professional Identification Number

(C) O Personal Identification Number (Correct Alternative) (Chosen Option)
Personal Identification Number (Correct Alternative) (Chosen Option)




(D) O Personal Income Number
Personal Income Number

Question No. 11 / Question ID 675 Marks: 2.00
The enterprises engaged in the production of goods is known as

q1d & 3T H @ ITH B ......... & TH A ST ST 8l

(A) O macro enterprises
Bl 3IH
(B) O service enterprises
a1 ITH
(C) © micro enterprises
3ff g I
(D) O manufacturing enterprise (Correct Alternative) (
3<[H (Correct Alternative) (Chosen Optlo

osen Option)

org

Question No. 12 / Question ID 529
Which one is a brain of computer’?
SR HT ARTSH S AT
(A) O Keyboard

CACI)

Marks: 2.00

(B) O Hard disk
BTs o
(C) O CPU (Correct Alternative) (Chosen Option)
It bt Y (Correct Alternative) (Chosen Option)
(D) O Monitor

www.globaliti

Question No. 13 / Question ID 588 Marks: 2.00

Which one is considered to be a good communication?
ﬁqu 33T AR AT STl %’?
(A) O Sender attacks receiver (Chosen Option)

&1 RIaR IR 89T H=A1 (Chosen Option)
(B) O Message is ambiguous

TSR R B
(C) O Sender is positive towards receiver (Correct Alternative)
& Ul VU PRIAS & (Correct Alternative)

(D) O Receiver doesn't listen to sender

Tl & &1 Tal AT

Question No. 14 / Question ID 638 Marks: 2.00
What is a shortcut key for “cut” command?
"He" HHIS & [oT8 T Yeadhe B (Goll) T 82




(A) O Ctrl+A
Ctrl + A
(B) O Ctrl +V (Chosen Option)
Ctrl + V (Chosen Option)
(C)O Ctrl+C
Ctrl + C
(D) O Ctrl + X (Correct Alternative)
Ctrl + X (Correct Alternative)

Question No. 15/ Question ID 629 Marks: 2.00
In which orientation, the text is printed length wise?

Rpg SMRTRT (M) §, 2o (U1a) aaréawﬁf(gmm%?
(A) O Width

(B) O Margin (Chosen Option)
(Chosen Option)
(C) O Landscape
dewhy

(D) O Portrait (Correct Alternative)
(Correct Alternative)

Question No. 16 / Question ID 669 Marks: 2.00
In “SWOT” analysis, “S” stands for
Wi fozawor & s wr el gl

(A) O Success
Success
(B) O Service (Chosen Option)
Service (Chosen Option)
(C) O Strength (Correct Alternative)
Strength (Correct Alternative)
(D) O Survey
Survey

www.globaliti.o

Question No. 17 / Question ID 576 Marks: 2.00
Intrinsic motivation is
3RS RUME ...
(A) O short lived
3y

(B) O for money or reward
% 1 319 & g

(C) O to gain social acceptance
qraTioIeh Wil U PR & ferg

(D) O long lasting (Correct Alternative) (Chosen Option)
eI &) a@ fed (Correct Alternative) (Chosen Option)

Question No. 18 / Question ID 694 Marks: 2.00
What actions should be taken after getting to know customer suggestions/problems?
e o G/ TS B T &SI T HRATS B o1 AMGY?
A) O Ask Categorize, Act, Followup (Correct Alternative) (Chosen Option)
H’lﬁqv_\-[il'ﬁ' arf‘%rﬁun Glﬂfﬁﬁaﬂi?ré' (Correct Alternative) (Chosen Option)




(B) O Ask, Act, Categorize
(C) O Ask, Solve

7B, 54 B
(D) O Ask, Followup
UB1, Bicis™
Question No. 19 / Question ID 606 Marks: 2.00
Someone is treated differently on their skin colour, income
forlt 1 e & 3T, 3T B AP AT A W TG fHAT ST &..... |
(A) O nature
(B) O unity E’
Uchdl o.
(C) O discrimination (Correct Alternative) (Chosen Oﬁ]l'n-n
favg (Correct Alternative) (Chosen Option) —
(D) O correct m
QO
Question No. 20 / Question ID 495 E Marks: 2.00
is major changes takes place in manufacturing. m
........... AT § U uRad gid B :
(A) O Green revolution ;
(B) O Food revolution ;
QT shifd
(C) O Water revolution
ol Shifd
(D) O Industry revolution (Correct Alternative) (Chosen Option)
I wifd (Correct Alternative) (Chosen Option)
Question No. 21 / Question ID 635 Marks: 2.00
The expansion of WAN is
"WAN" FT f[qdR 3 -
(A) O Wide Area Name
Wide Area Name
(B) O Web Aided Network (Chosen Option)
Web Aided Network (Chosen Option)
(C) O Web Assigned Name
Web Assigned Name
(D) O Wide Area Network (Correct Alternative)
Wide Area Network (Correct Alternative)
Question No. 22 / Question ID 583 Marks: 2.00

Which one is a “Do’s” for interview etiquette?

Sera] Uede & "Do's” T 87

(A) O Calm approach (Correct Alternative)
BT U (Correct Alternative)

(B) O Excessive gesture




(C) O Informal dress (Chosen Option)
%F (Chosen Option)
(D) O Nervousness

Question No. 23 / Question ID 658 Marks: 2.00
is the brain of the computer.
Sy B AR B
(A) O Central Processing unit (CPU) (Correct Alternative) (Chosen Option)
Tved UTARAT gfe (AdY) (Correct Alternative) (Chosen Option)

(B) O Keyboard

e >
(C) O Window

e ©
(D) O Desktop wr

SWhely —

(C
Question No. 24 / Question ID 656 _Q Marks: 2.00

Which one of thg following options shows the synonyms for@ywvord, we type in MS word?
frafoiea & ¥ &F a1 fawey te Wsg & yafgarh & T THUH 98 H TI8U $Rd 67
(A) O Style

RSIEN]

(B) O Hyperlink (Chosen Option)
i (Chosen Option)
(C) O Thesaurus (Correct Alternative)
T (Correct Alternative)
(D) O Spell check
W ah

WWW.

Question No. 25 / Question ID 587 Marks: 2.00
Which one is a good communication?
D I TH 3BT AR 57
A) O Message is clear and direct (Correct Alternative) (Chosen Option)
BT TP 3R TP §HT (Correct Alternative) (Chosen Option)

(B) O Sender attacks receiver

U DT REGR R gHa1 Al
(C) O Message is ambiguous

TS BT YT BT

(D) O Receiver doesn't listen to sender

UTeIehd! UNE B el AT




